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lzIff, lj1fg tyf k|ljlw dGqfno 
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;fgf]l7dL, eStk'/ 

 kf7\oj|md ljsf; s]Gb|

o; ;fdu|Lsf] ;jf{lwsf/ o; s]Gb|df ;'/lIft /x]sf] 5 . lnlvt :jLs[tljgf o;sf] k"/} jf cf+lzs 

efu x'ax' k|sfzg ug{, kl/jt{g u/]/ k|sfzg ug{, s'g} ljB'tLo ;fwg jf cGo k|ljlwaf6 /]s8{ ug{ 

/ k|ltlnlk lgsfNg kfOg]5}g . 

k|yd ;+:s/0f M @)&* k'if 

d"No M 



xfd|f] egfO 

ljBfyL{sf] ;jf{ª\uL0f ljsf;sf nflu cfjZos kg]{ 1fg, l;k / clej[lQ, d"No / tTk/tf ljsf;sf] lj:t[t 

of]hgf kf7\oj|md xf] . kf7\oj|mdsf] ;xL ¿kdf sfof{Gjog x'g ;s]df dfq lzIffsf] u'0f:t/ clej[l4 

ug{ ;lsG5 . kf7\oj|mdn] ljifout ljlzi6 p2]Zo, ljifoj:t', lzIf0fl;sfO lj|mofsnfk, z}lIfs ;fdu|L, 

lzIf0f ljlw / d"Nofª\sg k|lj|mof cflbsf] Joj:yf u/]sf] x'G5 . To;}n] lzIf0f l;sfO 

k|lj|mofnfO{ p2]Zok"0f{ / k|efjsf/L agfpgsf nflu lzIfsn] kf7\oj|mdnfO{ d"n cfwf/ jf dfWod  

agfpg'kb{5 . 

l;sfO ;xhLs/0f k|lj|mofnfO{ k|efjsf/L agfpg pko'St d"Nofª\sg k|0ffnLsf] k|of]u cfjZos x'G5 . 

kf7\oj|mdåf/f lglb{i6 p2]Zo s]slt dfqfdf k|fKt eP ePgg\ eg]/ ;xL ¿kdf d"Nofª\sg ug{ d"Nofª\sg 

k|lj|mofnfO{ Jojl:yt / j}1flgs agfpg cfjZos x'G5 . d"Nofª\sg k|lj|mofnfO{ j:t'lgi7 / 

p2]Zok"0f{ agfpg ljlzi6Ls/0f tflnsfn] dxTjk"0f{ ;xof]u k'¥ofPsf] x'G5 . To;}n] kf7\oj|mdsf] ;xL ¿kdf 

sfof{Gjog xf];\ / d"Nofª\sg k|lj|mof cem j:t'lgi7, ljZj;gLo / j}w x'g ;sf];\ eGg] clek|fon] 

ljlzi6Ls/0f tflnsf lgdf{0f ul/G5 . 

ljBfno txsf nflu /fli6«o kf7\oj|md k|f¿k, @)&^ cg';f/ lgdf{0f ePsf dfWolds lzIff -sIff !! / !@_ 

kf7\oj|md, @)&& z}lIfs jif{ @)&& b]lv sIff !! / z}lIfs jif{ @)&* b]lv sIff !@ df nfu' ePsf] 5 . 

pSt kf7\oj|mdcg';f/ ljBfyL{sf] afx\o d"Nofª\sg ug{sf nflu sIff !@ df k7gkf7g x'g] 

clgjfo{ ljifosf] ljlzi6Ls/0f tflnsf tof/ kf/L o; ¿kdf k|sfzg ul/Psf] xf] . k|:t't ljlzi6Ls/0f 

tflnsfsf] k|of]un] kl/dflh{t kf7\oj|mdcg';f/ lnOg] k/LIff ljBfyL{sf nflu ;/n / ;xh eO{ ljBfyL{sf] 

l;sfO pknlAw k|flKt b/nfO{ clej[l4 ug{ ;xof]u k'¥ofpg] ck]Iff ul/Psf] 5 .  

of] ljlzi6Ls/0f tflnsf /  gd'gf k|Zgkq  lgdf{0f ug{ ljifout ¿kdf lzIfs tyf ljz]if1 ;lDdlnt 

d:of}bf sfo{bn u7g ul/Psf] lyof] . d:of}bf sfo{bnn] tof/ kf/]sf] ;fdu|Ldfly lzIfsx¿sf] sfo{bnåf/f 

yk kl/dfh{g u/L ;DalGwt ljifo ;ldlt / ;dGjo tyf ;Dkfbg ;ldltdf 5nkmn u/L ;+zf]wg 

tyf ;'wf/ u/]kl5 o; ¿kdf tof/ kfl/Psf] xf] . oxfF /flvPsf k|Zg kf7\oj|mdsf cfwf/df lgld{t gd'gf 

k|Zg dfq x'g\ . k/LIff ;~rfng ljlzi6Ls/0f tflnsfdf km/s gkg]{ u/L cGo k|Zg lgdf{0f u/L k|of]u 

ug'{ pko'St x'G5 .  o;sf] lgdf{0f sfo{df ;xof]u k'¥ofpg] ;DalGwt If]qsf lzIfs, o; s]Gb|sf 

ljz]if1nufot ;Da4 ljifo ;ldltsf dxfg'efjx¿ Pjd\ ;DalGwt ;a} kIfk|lt kf7\oj|md ljsf; s]Gb| 

xflb{s wGojfb JoSt ub{5 . o;df s'g} sdL sdhf]/L eP cf}FNofO{ o;nfO{ cem kl/dflh{t / :t/Lo 

agfpg ;Da4 ;a}af6 /rgfTds ;'emfjsf] ck]Iff ul/Psf] 5 . 

@)&*, k'if kf7\oj|md ljsf; s]Gb| 
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!= ljlzi6Ls/0f tflnsf (Test Specification Chart) sf] kl/ro 

!= kl/ro 

lzIffsf /fli6«o p2]Zo kl/k"lt{ ug]{ dxŒjk"0f{ ;fwg kf7\oj|md xf] . kf7\oj|mdsf] k|efjsf/L

sfof{Gjog x'g ;s]df dfq lzIffsf] u'0f:t/ clej[l4 x'g ;Sb5 . kf7\oj|mdsf] ;xL ¿kdf 

sfof{Gjog ug{sf nflu k|efjsf/L ;xhLs/0f k|lj|mofsf ;fy} d"Nofª\sg k|0ffnLsf] ljz]if e"ldsf 

/x]sf] x'G5 . t;y{ kf7\oj|mdsf] k"0f{ sfof{Gjogdf d"Nofª\sg k|0ffnL k|efjsf/L x'g' h?/L x'G5 . 

kf7\oj|mdsf lglb{i6 ;Ifdtf k"lt{ eP ePgg\ eGg] s'/fsf] n]vfhf]vf ug]{ k|lj|mof d"Nofª\sg xf] eg] 

d"Nofª\sg k|lj|mofnfO{ of]hgfa4 tyf k|efjsf/L agfpg] dxŒjk"0f{ ;fwgdWo] ljlzi6Ls/0f tflnsf

klg Ps xf] . lzIffsf] u'0f:t/ / k|efjsfl/tf clej[l4 ug{ d"Nofª\sg k|0ffnLdf ;'wf/ 

ug{ cTofjZos  x'G5 . d"Nofª\sg k|0ffnLdf ;'wf/ ug{ kf7\oj|mdsf ;Dk"0f{ kIf ;d]6]/ 

d"Nofª\sgsf ;fwg lgdf{0f u/L d"Nofª\sg k|lj|mof ;~rfng ug'{ ckl/xfo{ x'G5 . xfd|f] jt{dfg 

z}lIfs k|lj|mofdf d"Nofª\sgsf] cleGg cª\usf ¿kdf k/LIffnfO{ lnOg] ul/Psfn] k/LIffsf k|Zgkq 

lgdf{0f ubf{ j}1flgs cfwf/ to u/L k|Zgkq lgdf{0f ug'{ cfjZos 5 . kf7\oj|mdsf p2]Zo k|fKt x'g] 

u/L kf7\oj|mdsf ;a} ljifoj:t' ;d]6]/ kf7\oj|mdåf/f lglb{i6 d"Nofª\sg k|lj|mof 

ckgfO{ d"Nofª\sgsf ;fwgsf ¿kdf k/LIffnfO{ k|of]udf Nofpg ljlzi6Ls/0f tflnsfsf] 

dxŒjk"0f{ e"ldsf /x]sf] x'G5 . k/LIff ;~rfng ug'{cufl8 k|Zgkqx¿ agfpg s'g PsfO jf kf7af6

s'g k|sf/sf] k|Zg ;f]Wg], s'g p2]Zosf] d"Nofª\sg ug{ s:tf] k|Zgkq tof/ ug]{, k|Zgsf] cª\sef/ 

slt lbg], s'g k|ZgnfO{ slt ;do lgwf{/0f ug]{ h:tf s'/fx¿ ljrf/ u/]/ k|Zgkq lgdf{0f 

ug'{ cfjZos x'G5 . x/]s lzIfsn] k/LIff ;~rfng ug'{cufl8 log} s'/fx¿ ;dfj]z u/L tof/ 

kfl/g] tflnsfnfO{ g} ljlzi6Ls/0f tflnsf elgG5 . o;/L pSt tflnsfdf kf7\oj|mdsf p2]Zo, 

ljifoj:t', cª\sef/, ;do cflbnfO{ Vofn u/L s'g PsfOaf6 s:tf / sltcf]6f k|Zgx¿ ;f]Wg], s'g 

k|Zg slt cª\ssf] /fVg], s'g k|ZgnfO{ slt ;do lbg], k|Zgdf 1fg, l;k / pRr 

IfdtfnfO{  s'gs'g k|Zgaf6 d"Nofª\sg ug]{ h:tf s'/fx¿ ;dfj]z ul/Psf] x'G5 . ljlzi6Ls/0f 

tflnsfs} cª\usf ¿kdf gd'gf k|Zgkq lgdf{0fstf{ / pQ/k'l:tsf k/LIfssf nflu Psk|sf/sf] 

dfu{bz{g jf lgb]{lzsf klg xf] . To:t} lzIfsn] lzIf0f k|lj|mof ;~rfng ubf{ klg s'g ljifoj:t', 

s;/L, s'g} p2]Zo k|flKtsf nflu ug]{ eGg] dfu{lgb]{z klg o; tflnsfn] ub{5 . 

ljlzi6Ls/0f tflnsfn] lzIfs tyf k|Zgkq lgdf{0fstf{nfO{ k|Zgkq agfpFbf ljifoj:t'ut j}wtf 

lgwf{/0f ug{ lgb]{lzt ub{5 . o;df kf7\oj|mdsf] p2]Zocg';f/ k/LIff / d"Nofª\sg k|ltlalDat ePsf] 

x'G5 . k/LIffsf] :t/Ls/0f, Ps¿ktf / j}wtfsf nflu ljlzi6Ls/0f tflnsfn] dxŒjk"0f{ e"ldsf
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v]n]sf] x'G5 . o;df l;sfOsf ;Dk"0f{ kIf ;d]l6Psf] x'g'k5{ . kf7\oj|mdsf ;Dk"0f{ If]qaf6 k|Zg 

lgdf{0f ug{ ;lsg] u/L 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{, k|Zg ;ª\Vof, ;do / cª\s 

lgwf{/0f ug{ tyf d"Nofª\sg ug]{ k|lj|mof;d]tnfO{ lgwf{/0f ug]{ x'Fbf lzIf0fl;sfO k|lj|mofdf o;sf] 

cxd\ e"ldsf /x]sf] x'G5 . 

s'g} klg ljifosf] kf7\oj|mdcg';f/ ljlzi6Ls/0f tflnsf km/skm/s 9ª\un] lgdf{0f ug{ ;lsG5 . 

To:t} ljifosf] k|s[lt / :j¿kcg';f/ klg ljlzi6Ls/0f tflnsf lgdf{0f x'g ;Sb5  .;fdfGotof 

ljlzi6Ls/0f tflnsf lgdf{0f ubf{ lgDglnlvt s'/fx¿df ljrf/ ug{ cfjZos x'G5 M 

-s_ kf7\oj|mdsf ;Ifdtf /  l;sfO pknlAw 

-v_ ljifoj:t'sf If]q jf l;sfOsf ljwfx¿ 

-u_ l;sfOsf ljleGg txx¿ ;DemfO, a'emfO, k|of]u, ljZn]if0f, d"Nofª\sg, l;h{gf cflb kIfx¿ 

-3_ kf7\oj|mdåf/f lglb{i6 kf7\o306f / ljifoj:t'sf] Jofkstf 

-ª_ k/LIffdf ;f]lwg] k|Zgsf k|sf/, k|Zgsf :t/, k|Zgsf ;ª\Vof, cª\sef/ / ;do 

-r_ k|Zg lgdf{0fsf nflu :ki6 dfu{lgb]{zg 

-5_ ljlzi6Ls/0f tflnsfcg';f/sf] gd'gf k|Zgkq lgdf{0f 

@= k|Zgkq lgdf{0f ubf{ k|of]u x'g] d'Vo lj|mofkbx¿ 

k|Zgkq lgdf{0f ubf{ k|ZgnfO{ dfkgLo, j:t'ut, ljZj;gLo / j}w agfpg w]/} s'/fdf Wofg k'¥ofpg 

cfjZos  x'G5 . To:t} 1fg, af]w / cGo txsf k|Zgx¿ lgdf{0f ug{ lglZrt lj|mofkbx¿sf] k|of]u 

ug'{kb{5 . k|Zgkq lgdf{0f ubf{ s'g txsf] k|Zgdf s:tf lj|mofkb k|of]u ug{ pko'St x'G5 

eGg] ;fdfGo hfgsf/Lsf nflu oxfF s]xL lj|mofx¿ pbfx/0f:j¿k k|:t't ul/Psf] 5 M 

-s_ ;+1fg txsf lj|mofkbx¿ M 1fg txsf k|Zgdf ljifoj:t'sf] 1fgnfO{ hf]8 lbOg] x'gfn] 

To;cg'¿ksf lj|mofkbx¿ /fvL k|Zg lgdf{0f ug'{kb{5 . h:t}M kl/efiff lbg', JofVof ug'{, 

klxrfg ug'{, ;"rL tof/ ug'{, t'ngf ug'{, gfd lbg', /]vfª\sg ug'{, pNn]v ug'{, n]Vg' cflb .  

-v_ af]w txsf lj|mofkbx¿ M s'g} klg ljifo cWoog u/]/, ;'g]/ jf k9]/ a'em\g] Ifdtf jf l;k g} 

af]w ug]{ Ifdtf klg o;df kb{5 . t;y{ o; vfnsf] k|Zgdf 5'6\ofpg', b]vfpg', 5fGg', ;"lrt 

ug'{, ¿kfGt/ ug'{, lg0f{o lbg', k'li6 ug'{, pbfx/0f lbg', JofVof ug'{, t'ngf ug'{ h:tf lj|mofkb 

k|of]u u/L k|Zg lgdf{0f ug'{kb{5 . 

-u_ cGo txsf lj|mofkbx¿  M 1fg, af]weGbf pRr bIftf / Jofjxfl/s ;d:of ;dfwfg ug]{ 

l;k;Fu ;DalGwt k|Zgsf txnfO{ oxfF cGo tx elgPsf] xf] . o; txdf ;fdfGo 1fg / 

a'em\g]eGbf pRr bIftf / Ifdtfsf] k/LIf0f ul/g] x'gfn] To:t} vfnsf lj|mofkbx¿ k|Zgkqdf 
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k|of]u ul/g'kb{5 . h:t}M kl/jt{g ug'{, k|bz{g ug'{, vf]h ug'{, ;'wf/ ug'{, JofVof ug'{, tof/ 

ug'{, ;DaGw b]vfpg', ;dfwfg ug'{, ljefhg ug'{, km/s b]vfpg', 5gf]6 ug'{, lj:tf/ ug'{, 

lgdf{0f ug'{, k'gn]{vg ug'{, ;f/f+z n]Vg', ljj]rgf ug'{, ljZn]if0f ug'{, ;dLIff ug'{, k'li6 ug'{, 

d"Nofª\sg ug'{, 5nkmn ug'{, lrq agfpg', l;h{gf ug'{ cflb . 

#= ljlzi6Ls/0f tflnsfsf] k|of]u 

jt{dfg d"Nofª\sg k|lj|mofdf ;'wf/ u/L kf7\oj|mdsf] d"Nofª\sg k|lj|mofcg'¿k ljlzi6Ls/0f tflnsf 

lgdf{0f ug]{, ljlzi6Ls/0f tflnsfcg';f/ gd'gf k|Zgkq agfO{ k/LIff ;~rfng ug]{ / tbg'¿k 

lzIfs tyf ljBfyL{x¿df o;sf] k|of]u ug]{  afgL ljsf; ug'{ cfjZos 5 5 . kf7\oj|mdn] lgwf{/0f 

u/]sf ;Ifdtf tyf l;sfO pknlAw k"/f ug{sf nflu ljlzi6Ls/0f tflnsfsf] lgdf{0f 

u/L ;Dk"0f{ kIfnfO{ ;d]6\g] u/L k|Zgkq tof/ u/L ;f]cg';f/ k/LIff ;~rfng Pjd\ k/LIf0f / 

k[i7kf]if0f ug{ cTofjZos ePsfn] o;sf] dxŒjk"0f{ e"ldsf /x]sf] 5 . d"ntM ljlzi6Ls/0f

tflnsfsf] k|of]u lgDglnlvt sfo{sf nflu ug{ ;lsG5 M 

-s_ z}Ifl0fs of]hgf lgdf{0f ug{ M x/]s k|sf/sf z}Ifl0fs of]hgf lgdf{0f ug{ ljlzi6Ls/0f 

tflnsfn] ;xof]u k'¥ofpF5 . ljBfyL{sf] l;sfO pknlAw dfkg ug{ cfjZos d"Nofª\sg ;fdu|L 

s:tf] vfnsf], slt ef/sf] x'g] / k|Zg ;ª\Vof h:tf s'/fx¿ cWofkg of]hgfdf /fVg ;xof]u 

k'Ug] x'Fbf d"Nofª\sgsf] cleGg cª\usf ¿kdf of]hgf lgdf{0fdf ljlzi6Ls/0f tflnsfsf] k|of]u 

ug'{kb{5 . 

-v_ pko'St k|Zgkqsf] lgdf{0f ug{ M Ps lglZrt ;dofjlwleq kf7\oj|md jf p2]Zocg'¿k 

ljBfyL{x¿sf l;sfO pknlAw d"Nofª\sg ug{ l;sfOsf txcg'¿k k|Zgx¿sf lglZrt k|sf/ / 

;ª\Vof, cª\sef/, ;do cflb o;df /flvg] x'Fbf k|Zgkq lgdf{0f ug{ o;n] dfu{bz{g u5{  . 

t;y{ d"Nofª\sgnfO{ k|efjsf/L ¿kdf k|of]u ug{ o;n] ;3fpF5 . 

-u_ ljBfyL{sf] l;sfOdf clej[l4 ug{ M o; tflnsfdf l;sfOsf s'g s'g txx¿nfO{ dfkg ug]{ / 

x/]s txsf l;sfOnfO{ slt ef/ lbg] eGg] h:tf s'/fx¿ /flvPsf] x'G5 . t;y{ l;sfO 

;xhLs/0f lj|mofsnfkdf oL s'/fx¿nfO{ ;fd~h:o sfod u/fpg ;lsPdf ljBfyL{sf] 

l;sfOdf clej[l4 x'g hfG5 . o; tflnsfdf 1fg, af]w, Jofjxfl/s l;k tyf pRr bIftf 

dfkg ug]{ u/L k|Zgx¿ txcg';f/ lgdf{0f ug]{ k|lj|mof pNn]v x'g] x'gfn] klg o; tflnsfsf] 

k|of]u ;xL ¿kdf ePdf ljBfyL{sf] l;sfO clej[l4df ;xof]u k'Ug hfG5 . 

$= ljBfyL{ d"Nofª\sg k|lj|mof 

ljBfno txdf ljBfyL{ pknlAw d"Nofª\sgsf nflu lgdf{0ffTds d"Nofª\sg k|lj|mof cjnDag u/L 

l;sfO ;'wf/sf nflu lg/Gt/ k[i7kf]if0f k|bfg ul/g'sf ;fy} lg0f{ofTds d"Nofª\sg 
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k|lj|mofnfO{ cjnDag u/L ljBfyL{sf] l;sfO:t/ lgwf{/0f ug'{k5{ . 

-s_ cfGtl/s  d"Nofª\sg 

-c_ cfGtl/s  d"Nofª\sg lgdf{0ffTds d"Nofª\sgsf ¿kdf ;DkGg ug'{kg]{ 5 . lgdf{0ffTds 

d"Nofª\sgsf] d'Vo p2]Zo ljBfyL{x¿sf] l;sfO :t/df ;'wf/ ug'{ xf] . o;sf nflu 

lzIfsn] ljBfyL{sf] JolStut l;sfO pknlAwsf cfwf/df k6s k6s l;sfO cj;/ 

k|bfg ug{'kg]{ 5 . ljBfno txsf] lgdf{0ffTds d"Nofª\sgdf sIffut l;sfO 

;xhLs/0fsf] cleGg cª\usf ¿kdf u[xsfo{, sIffsfo{, k|of]ufTds tyf kl/of]hgf sfo{, 

;fd'bflos sfo{, cltl/St lj|mofsnfk, PsfO k/LIff, dfl;s tyf q}dfl;s k/LIff h:tf 

d"Nofª\sgsf ;fwgx¿sf] k|of]u ug{ ;lsg] 5 . o:tf] d"Nofª\sgdf ljBfyL{sf] clen]v 

/fvL l;sfO cj:yf olsg u/L ;'wf/fTds tyf pkrf/fTds l;sfOaf6 ;'wf/ ug]{ 

kIfdf hf]8 lbOg] 5 . ljz]if l;sfO cfjZostf ePsf ljBfyL{sf nflu ljifo lzIfsn] 

g} pko'St k|lj|mof ckgfO{ d"Nofª\sg ug'{kg]{ 5 .  

lgdf{0ffTds d"Nofª\sgsf] glthfnfO{ clen]vLs/0f u/L ljifout kf7\oj|mddf 

tf]lsPcg';f/ lglZrt ef/ cfGtl/s d"Nofª\sgsf ¿kdf lg0f{ofTds 

d"Nofª\sgdf ;dfj]z ul/g] 5 . 

-cf_ k|To]s clgjfo{ tyf P]lR5s ljifodf ljBfnon] k|of]ufTds÷Jofjxfl/s cEof;

u/fpg'kg]{ 5 . o:tf] cEof;df ljifosf] k|s[ltcg';f/ k|of]ufTds sfo{, kl/of]hgf sfo{, 

;fd'bflos sfo{, k|:t'tLs/0f, vf]h, OG6g{l;k, cltl/St sfo{snfk, v]ns'b, ufog cflb 

sfo{ u/fpg ;lsg] 5 . t/ ;DalGwt ljifosf] kf7\oqmdn] tf]s]cg';f/sf] k|of]ufTds 

cEof; u/fpg'kg]{ 5 . 

-v_ lg0f{ofTds d"Nofª\sg M dfWolds tx -sIff !! / !@_ df lgDgfg';f/ lg0f{ofTds d"Nofª\sg 

ug'{kg]{ 5 M 

-c_ lgdf{0ffTds d"Nofª\sgaf6 k|fKt glthfsf cfwf/df cfGtl/s d"Nofª\sgsf] / 

clGtd÷afx\o k/LIffsf] glthfsf cfwf/df tf]lsPsf] ef/ ;dfj]z u/L ljBfyL{sf] 

lg0f{ofTds d"Nofª\sg ul/g] 5 .  

-cf_ cfGtl/s d"Nofª\sgsf ¿kdf lgdf{0ffTds d"Nofª\sgaf6 k|fKt ljifout kf7\oj|mddf 

tf]lsPcg';f/sf]] ef/sf] d"Nofª\sg lg0f{ofTds d"Nofª\sgdf ;dfj]z ul/g] 5 . cfGtl/s 

d"Nofª\sgsf tl/sfdf ljifout ljljwtf x'g ;Sg] eP klg lgDglnlvt kIfsf] 

d"Nofª\sg ;a} ljifodf ;dfj]z x'g] 5 M 

 sIff ;xeflutfsf] d"Nofª\sg M ljBfyL{sf] lgoldttf -pkl:ylt_ / sIff 
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lj|mofsnfkdf ;xeflutfsf] clen]vsf cfwf/df ul/Psf] d"Nofª\sg . 

 q}dfl;s k/LIffx¿sf cª\ssf cfwf/df k|fKt cª\s M klxnf] q}dfl;s cjlwe/df 

k7gkf7g ePsf ljifoj:t'af6 klxnf] q}dfl;s k/LIff ;~rfng ul/g] 5 eg] klxnf] 

/ bf];|f] q}dfl;s cjlwe/df k7gkf7g ePsf ljifoj:t'af6 bf];|f] q}dfl;s 

k/LIff ;~rfng ul/g] 5 . 

 k|of]ufTds tyf kl/of]hgf sfo{sf] d"Nofª\sg  

 ljifout kf7\oj|mddf tf]lsPcg';f/sf cGo cfwf/x¿  

-O_ sIff !! / !@ df ljifout kf7\oj|mddf tf]lsPcg';f/sf] ef/sf] afx\o  k/LIff x'g] 5 . 

afx\o k/LIff ;}¢flGts jf ;}¢flGts / k|of]ufTds b'j} x'g ;Sg] 5 . ;}¢flGts / 

k|of]ufTds b'j} d"Nofª\sgsf] 5'6\6f5'6\6} >]0fLs/0f ul/g] 5 . 

-O{_ k|of]ufTds, ;}4flGts tyf cGo kIfsf] d"Nofª\sgsf] ef/, ljlw tyf ;fwg ;DalGwt 

ljifosf] kf7\oj|mddf pNn]v ePcg';f/ x'g'kg{] 5 . ;}4flGts kIfsf] d"Nofª\sgsf nflu 

ljlzi6Ls/0f tflnsf lgdf{0f ul/g] 5 . ;}4flGts d"Nofª\sgsf  nflu  &% k|ltzt ef/ 

x'g] ljifodf # 306f / %) k|ltzt ef/ x'g] ljifodf @ 306f ;do lgwf{/0f ul/g] 5 .  

-p_ k/LIffdf ljz]if l;sfO cfjZostf ePsf ljBfyL{x¿nfO{ s]xL vf; vf; ljifox¿df 

c¿ ;fwf/0f ljBfyL{x¿nfO{ lbOg] k|ZgeGbf cnu k|Zg agfO{ d"Nofª\sg ug'{kg]{ 5 . 

ljz]if cfjZostf ePsf ljBfyL{sf nflu k/LIffsf] ;do yk ug{ ;lsg] 5 . ljBfyL{ 

d"Nofª\sg ubf{ lzIfsn] ckfª\utf ePsf / ljz]if l;sfO cfjZostf ePsf 

ljBfyL{x¿sf nflu pko'St x'g] d"Nofª\sg k|lj|mof ckgfpg'kg]{  5 . 

-pm_ ljBfyL{sf] :t/ lgwf{/0f (Grading) cIf/fª\sg k4ltaf6 x'g] 5 . 

 

–)– 
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@= g]kfnL Nep. 002 

ljlzi6Ls/0f tflnsf -k|Zg of]hgf_ 

sIff M !@ 

k"0ff{ª\s &%          ;do # 306f 

j|m=;

= 

k/LIf0fLo 

kf7\oj:t'  

-k9fO / 

n]vfO_ 

k|Zgsf] 

k|s[lt 

1fg af]w Jofj

xfl/s 

l;k 

pRr 

bIftf 

;f]lwg] 

k|Zg 

pQ/ 

lbg'kg]{ 

k|Zg 

cª\s 

ef/ 

:ki6Ls/0f 

!= cIf/ 

;+/rgf 

klxrfg 

klxrfg 

/ k|of]u 

!    ! ! # a9Ldf tLg jfSo ePsf] Ps cg'R5]b lbO{ 

ltgdf % cIf/;Ddsf tLgcf]6f zAbdf 

/]vfª\sg u/L ltgsf] cIf/ ;+/rgf / cIf/ 

;ª\Vof n]Vg nufpg]  

@= j0f{ljGof; k'gn]{vg   !  ! ! # j0f{–-

a÷j÷z÷if÷;÷o÷P÷g÷0f÷5÷If÷1÷UoF_ 

af6–@, dfqf–-x|:j–Osf/÷psf/af6–!,bL3{–

O{sf/ ÷pmsf/af6–!_ u/L hDdf–@, n]Vo 

lrx\g –! / kbof]u÷kbljof]u –! u/L hDdf 

^ cf]6f cz'l4 ePsf a9Ldf tLg jfSosf] 

Pp6f cg'R5]b lbg] / z'4 u/L k'gn]{vg 

u/fpg]  

#= zAbe08f/ klxrfg 

/ k|of]u 

  @  @ ! @ sDtLdf b'O{cf]6f k|fljlws÷kfl/eflifs zAb / 

b'O{cf]6f cg's/0ffTds zAb k|of]u ePsf] 

cg'R5]b lbO{ Pscf]6f k|fljlws÷kfl/eflifs 

zAb / Pscf]6f cg's/0ffTds zAb klxrfg 

ug{ nufO{ jfSodf k|of]u ug{ nufpg] cyjf  

sDtLdf b'O{cf]6f pvfg / b'O{cf]6f 6'Ssf 

k|of]u ePsf] cg'R5]b lbO{ Ps Pscf]6f pvfg 

/ 6'Ssf klxrfg ug{ nufP/ jfSodf k|of]u 

ug{ nufpg] 

$= kbju{ klxrfg   !  ! ! # Pp6f cg'R5]b lbO{ gfd, ;j{gfd, ljz]if0f, 

lj|mofkbaf6 rf/cf]6f / cJooju{af6 b'O{cf]6f 

u/L hDdf 5cf]6f zAbsf] kbju{ klxrfg ug{ 

nufpg] . o;df sDtLdf Pp6f zAb rflxF ju{ 

ljrng ePsf] lbg] . 

%= zAb;|f]t klxrfg   !  ! ! @ Pp6f cg'R5]b lbO{ To;af6 tT;d, tb\ej / 

cfuGt'sdWo] j'mg} b'O{ cfwf/af6 ag]sf b'O{ 

b'O{ zAb klxrfg ug{ nufpg] 

^= zAblgdf{0f klxrfg 

/ k|of]u 

 

  @  @ ! # -s_ tT;d, tb\ej tyf cfuGt's ;|f]tsf tLg 

pk;u{ / tT;d tyf tb\ej ;|f]tsf tLg 

k|Too lbO{ zAb agfpg nufpg] jf pk;u{ / 

k|Toosf] of]un] ag]sf sDtLdf rf/cf]6f 

pk;u{ Jo'TkGg / rf/cf]6f k|Too Jo'TkGg 

zAb ePsf] cg'R5]b lbO{ To;af6 tLgcf]6f 

pk;u{ Jo'TkGg / tLgcf]6f k|Too Jo'TkGg 

zAb vf]hL lgdf{0f k|lj|mof b]vfpg nufpg] 

-v_ rf/cf]6f ;d:t / rf/cf]6f låTj zAb 

ePsf] Ps cg'R5]b lbO{ To;af6 tLgcf]6f 

;d:t zAb /   tLgcf]6f låTj zAb klxrfg 
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u/L ltgsf] lgdf{0f k|lj|mof b]vfpg nufpg] . 

&= sf/s / 

ljelSt 

tyf zAb 

¿kfog  

klxrfg 

/ 

kl/jt{g 

 

  @  @ ! $ -s_ 5'6\6f5'6\6} sf/s k|of]u ePsf] s'g} 

ljifosf] j0f{g ul/Psf] a9Ldf rf/ jfSosf] 

Ps cg'R5]b lbg] / k|o'St jfSodf ePsf 

cf7cf]6f sf/sdf /]vfª\sg u/L tL sf/ssf] 

gfd n]Vg nufpg] jf 5'6\6f5'6\6} cf7cf]6f 

ljelSt lbO{ ltgsf] k|of]u u/]/ rf/ jfSodf 

s'g} ljifosf] j0f{g ug{ nufpg] 

-v_ rf/cf]6f jfSosf] cg'R5]b lbO{ lnª\u, 

jrg, k'?if, cfb/dWo] s'g} Ps cfwf/df 

¿kfog ug{ nufpg] 

*= sfn, kIf, 

efj, 

s/0f÷ 

cs/0f, 

jfRo 

klxrfg, 

k|of]u / 

jfSofGt/

0f 

  @  @ ! $ -s_ sfn, kIf / efjdWo] s'g} Pssf] k|of]u 

u/]/ rf/ jfSodf s'g} ljifosf] j0f{g u/L 

cg'R5]b n]Vg nufpg] . 

-v_ st{[, sd{ / efjdWo] j'mg} Ps jfRosf 

rf/cf]6f jfSo lbO{ csf]{ jfSodf kl/jt{g ug{ 

nufpg] jf rf/cf]6f jfSosf] cg'R5]b lbO{ 

w'|jLotfsf cfwf/df jfSo kl/jt{g ug{ 

nufpg]  

(= jfSo 

;+Zn]if0f 

tyf jfSo 

ljZn]if0f 

/ plSt 

kl/jt{g 

klxrfg 

/ 

jfSofGt/

0f 

  @  @ ! $ -s_ s'g} cf7cf]6f ;/n jfSo lbO{ To;nfO{ 

rf/cf]6f hl6n jfSodf ;+Zn]if0f ug{ nufpg] 

jf s'g} rf/cf]6f hl6n jfSo lbO{ ltgnfO{{ 

cf7cf]6f ;/n jfSodf ljZn]if0f ug{ nufpg] 

jf rf/cf]6f ;/n jfSo ePsf] cg'R5]b lbO{ 

Pp6f jfSodf ;+Zn]if0f ug{ nufpg] 

-v_ s'g} rf/cf]6f k|ToIf sygsf jfSo lbO{ 

ltgnfO{ ck|ToIf  sygdf abNg nufpg] jf 

s'g} rf/cf]6f ck|ToIf sygsf jfSo lbO{ 

ltgnfO{ k|ToIf sygdf abNg nufpg] 

!)= k7gaf]w  -

k|of]hgk/

s /rgf_ 

 !   ! ! % b[i6f+z÷cb[i6f+z k|of]hgk/s kf7af6 !&%  

zAbdf g36fO{ uBf+z lbO{ tYok/s, 

lgisiff{Tds, cg'dfgfTds / ;Gbe{af]ws 

kfFrcf]6f k|Zg ;f]Wg]   

!!= a'Fbfl6kf]6 

/ 

;ª\If]kLs/

0f 

 

a'Fbfl6kf]6 

/ 

;ª\If]kLs

/0f 

 

   ! ! ! @±#Ö

%  

b[i6f+z÷cb[i6f+z uBf+zsf] s'g} Ps 

cg'R5]baf6 k|d'v rf/cf]6f a'Fbfl6kf]6 ug{ 

nufpg] / Ps t[tLof+zdf ;f/f+z n]Vg 

nufpg]  

!@= Jofjxfl/s 

n]vg  

-kq_ 

/rgf    @ @ ! $ -s_ lgj]bg, Jofj;flos kq, ;DkfbsnfO{ 

lr7L, ;"rgf, lj1lKt / lj1fkgdWo] s'g} 

Pp6f  k|Zgsf] pQ/ n]Vg nufpg] 

-v_] dGh'/Lgfdf, ekf{O{, td;'s, ;Demf}tf kq, 

÷s/f/gfdf, a}7s lg0f{o, JolStut 

ljj/0fdWo] s'g} Pp6f k|Zgsf] pQ/ n]Vg 

nufpg]  

!#= k|ltj]bg 

n]vg jf 

l6Kk0fL 

n]vg 

cleJo 

lSt 

   @ @ ! % -s_ lgwf{l/t 9fFrfdf 36gf, ;df/f]x, :ynut 

e|d0fdWo] s'g} Ps ljifodf !%)  zAbdf 

g36fO{ Pp6f k|ltj]bg n]Vg nufpg]   

-v_ s'g} Ps ljifodf !%) zAbdf g36fO{ 

l6Kk0fL n]Vg nufpg]  
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b|i6Jo 

-s_ 1fg M o;df k|f/lDes l;sfOsf s'/f k5{g\ . ljlzi6 tYo, k'gM :d/0f, k|fKt ;"rgf / k|ltlj|mofsf] d"Nofª\sg ug]{ 

vfnsf k|Zgx¿ o;cGtu{t ;f]lwg] 5g\ . 

-v_ af]w M ljBfyL{n] l;s]sf s'/fsf] JofVof / j0f{g ug]{ Ifdtfsf] d"Nofª\sg ug]{ vfnsf k|Zgx¿ o;cGtu{t ;f]lwg] 

5g\ . 

-u_ Jofjxfl/s l;k M o;df k|of]u ug]{ / ;+of]hg ug]{ h:tf Jofjxfl/s Ifdtf;DaGwL k|Zgx¿ ;f]lwg] 5g\ . 

-3_ pRr bIftf M ljrf/sf] ;+of]hg / d"Nofª\sg ug]{ Ifdtf ;DaGwL k|Zgx¿ o;cGtu{t ;f]lwg] 5g\ .

!$= JofVof ;Gbe{df 

cfwfl/t  

 @   @ ! $ lgwf{l/t sljtf, syf, lgaGw, hLjgL, lgofqf, 

l/kf]tf{h / ¿ks kf7af6 s'g} p4/0f jf c+z 

lbO{ b'O{cf]6f k|Zg ;f]wL j'mg} Pp6fsf] pQ/ 

n]Vg nufpg]   

!%= ;flxlTos 

/rgfsf] 

k7gaf]w 

 

;Gbe{df 

cfwfl/t 

;ª\lIfKt 

k|Zg 

 @   @ ! $ lgwf{l/t sljtf, syf, lgaGw, hLjgL, lgofqf, 

l/kf]tf{h / ¿ks kf7af6 s'g} p4/0f jf c+z 

lbO{ b'O{ k|Zg ;f]Wg] / Pp6fsf] dfq pQ/ n]Vg 

nufpg]  -k|To]s k|Zgleq b'O{cf]6f pkk|Zg 

/xg] 5g\ ._ 

 

!^= k|ltlj|mof 

jf tfls{s 

n]vg 

k|ltlj|mof

Tds tyf 

tfls{s 

k|Zg 

   @ @ ! $  -s_ lgwf{l/t kf7af6 ljifoj:t', efj, kl/j]z, 

;Gb]z, rl/qdWo] s'g} Ps k|Zg ;f]wL 

k|ltlj|mof n]Vg nufpg]  

-v_ lgwf{l/t ljwfsf s'g} k|;ª\u lbO{ ljrf/ 

tyf ts{n] k'li6 ug]{ vfnsf] pQ/ n]Vg 

nufpg] 

!&= kf7ut 

af]w 

;dLIffTd

s k|Zg 

 @   @ ! * pkGof;, syf, sljtf, lgaGw, hLjgLaf6 

ljifoj:t', kfq, kl/j]z, d"nefj cflb;Fu 

;DalGwt b'O{cf]6f k|Zg ;f]Wg] / s'g} Ps 

k|Zgsf] ;dLIffTds pQ/ n]Vg nufpg]  

!*= lgaGw 

n]vg 

:jtGq 

/rgf 

   # # ! * cfTdk/s / j:t'k/s z}nLsf tLgcf]6f 

zLif{s lbO{ s'g} Ps ljifodf Go"gtd @%) 

zAb;Ddsf] Pp6f lgaGw n]Vg nufpg]  

hDdf     #! !* &%  
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gd'gf k|Zg 

clgjfo{ g]kfnL Nep. 002                         
sIff– !@                                                   k"0ff{ª\s– &% 

;do– # 306f                                          

ljBfyL{n] ;s];Dd cfˆg} zAbdf pQ/ lbg'kg]{ 5 . 

!= tnsf] cg'R5]bdf /]vfª\sg ul/Psf zAbsf] cIf/ ;+/rgf / cIf/ ;ª\Vof b]vfpg'xf];\ M -#_ 

;/f]j/df :gfgkl5 z'rLeb|n] bdoGtLnfO{ sfnf] wf]tL / b's'nsf] cf]8\g] lbof] . ef]hgkZrft\ Tof] ;fy{n] lgs} 

a]/;Dd ToxL ;/f]j/5]p lj>fd u¥of] . lj>fd ubf{ 3f]8f / ufO{uf]?x¿nfO{ ;d]t g'xfOlbP/ rg{ otfplt  

5f]l8of] . 

@= z'4 u/L  k'gn]{vg ug'{xf];\  M  -#_ 

xfd|f] cfjfhnfO{ k5\ofpFb} ;fyLx¿ 8fF8fdf lgl:s;s]kl5 d}n] eg]F, l56f] lxF8\g g;Sg] ;fyLrflxF b'O{ hgf  

el/ofx¿ l;t lj:tf/L cfpg'xf];\, xfdL ltg hgf rflxF b'u'b}{ kf]v/f hfG5f}F clg vfgfsf] Joj:yf ldnfpF5f}F . 

h:t} cj:yfdf klg / hlt /ft k/] klg tkfO{Fx? cj:o cfOk'Ug'xf]nf . 

#= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M -@_ 

-s_ lbOPsf c+zaf6 Pscf]6f kfl/eflifs zAb / Pscf]6f cg's/0ffTds zAb klxrfg u/L jfSodf k|of]u 

 ug'{xf];\ M  

sfof{nosf] a]?h' /sd a9]kl5 pm dfgl;s cGtå{Gådf km:of] . To;kl5 sfo{sIfaf6 h'?Ss p7]/ ;'6'Ss 

3/lt/ nfUof] .  

-v_ lbOPsf] cg'R5]baf6 Pp6f pvfg / Pp6f 6'Ssf klxrfg u/L ltgnfO{ jfSodf k|of]u ug'{xf];\ M 

ufpFdf PsflS; dxfljklQ k¥of] . o:tf] j]nf klg tdf;f x]g]{ / sfgdf t]n xfn]/ a:g]sf] sdL ePg . tLdWo] 

s]xLn] eg] cfˆgf] ufF; sf6]/ eP klg arfP . of] s'/f Ps sfg b'O{ sfg d}bfg e}mF ;a}lt/ km}lnof] . l5d]sL, 

Oi6ldq ;a}sf] ;xof]un] Psn] y'sL ;'sL ;on] y'sL gbL eg] em}F x'Fb} uof] . cfk"m enf] t hut\ enf] eGg] 

egfOnfO{ cGttM ;xof]uL dgn] rl/tfy{ u/]/} 5f8] .  

$= tnsf] cg'R5]bdf /]vfª\sg ul/Psf zAbsf] zAbju{ klxrfg ug'{xf];\\ M   -#_ 

…lhGbuLdf lk/afx]s ;'v sxfF b]Vg kfpF5' / Û ;xf/f, ;'/Iff / dfof u'dfPsL dfG5]sf] cg'xf/ s;/L pHoflng 

;S5 / < 5f]/f5f]/L ;fgf 5g\ . cfkm}F ;f]Rg';\\, oqf] nfdf] lhGbuL lnP/ d s;/L afr"F < oL ljifo ;f]Rbf dnfO{ 

k6\of/ nfU5ÚÚ ;':s]/f xfNb} d}n] eg]F .  

%= tnsf] cg'R5]baf6 b'O{cf]6f tT;d zAb / b'O{cf]6f cfuGt's zAb klxrfg u/L n]Vg'xf];\ M -@_ 

cIftf x]/] em}F 6k/Lsf kmfOn x]b}{ xf8{l8:sdf /fVb} ug{ yfNof] PlG6efO/; uf]v]{ . cfwfhlt k'¥ofPkl5 /fIf; 

h:tf] l3gnfUbf] b]lvg] efO/; e]6\of] . tL efO/;n] nueu rf/ ;o kmfOndf ;ª\j|md0f u/]sf lyP . y'k|} kmfOn 

dd{t eP, dd{t x'g g;s]sfnfO{ PlG6efO/; uf]v]{n] l8ln6 ug]{ ;'emfj lbof] . 
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^= s'g} Ps k|Zgsf] pQ/ lbg'xf];\  M -#_ 

-s_ tnsf] cg'R5]baf6 tLgcf]6f pk;u{ Jo'TkGg zAb / tLgcf]6f k|Too Jo'TkGg zAb klxrfg u/L ltgsf] 

 lgdf{0f k|lj|mof b]vfpg'xf];\ M  

u|fdL0f e]usf] t'ngfdf ;xl/of dflg; ljnf;L x'G5g\ . ;w}F kl/>d u/]/ afFRg] ufpFn] hLjg st{Jon] el/Psf] 

x'G5 . ;fbf cfr/0f ePsf pgLx¿ ;a}df ;xefj /fV5g\ .  

-v_ tnsf] cg'R5]baf6 tLgcf]6f ;d:t zAb / tLgcf]6f låTj zAb klxrfg u/L ;d:t zAbsf] lju|x / låTj 

zAbsf] bf]xf]l/Psf] c+z b]vfpg'xf];\ M        

sf]le8sf sf/0f aGbfaGbLsf] ;dodf 3/aflx/ glg:sg lgif]wf1f hf/L u/] tfklg cfcfˆgf ;'/df ;x/ahf/sf 

l76fl76L cf]xf]/bf]xf]/ ul//x]sf b]lvGy] . ljZj g} /f]uu|:t ePsf j]nf o;/L a]sfddf n'v'/n'v'/ u/L uNnL8'n'jf 

eO{ lxF8\g' /fd|f] xf]Og .   

&= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M -$_ 

-s_ n], nfO{, af6, åf/f, b]lv, sf], gf], df ljelSt nfu]sf leGg leGg sf/ssf] k|of]u u/L rf/ jfSodf s'g} 

 36gfsf] j0f{g ug'{xf];\ . 

-v_ ;fdfGo cfb/df ¿kfGt/0f u/L k'gn]{vg ug'{xf];\ M  

tkfO{F cfh klg st} hfg'x'G5 ls < clxn]sf] ;dodf o;/L aflx/lt/ 3'Dg glg:sg'xf];\ . 3/leq} a;]/ Jofofd 

ug'{xf];\ . a? lstfa k9\g'xf];\, syf n]Vg'xf];\ . 

*= s'g} Ps k|Zgsf] pQ/ lbg'xf];\  M -$_ 

-s_  tnsf lbOPsf jfSosf] jfRo kl/jt{g ug'{xf];\ M  

o;kfln Hff8f] labfdf kf]v/f 3'Dg hfG5f}F . kf]v/fsf] n]s;fO8sf] l/;f]6{df a:5f}F . a]ugf; / km]jftfndf 8'ª\uf 

klg r9\5f}F . tLg lbgsf] a;fOkl5 cfcfˆgf] 3/ kms{G5f}F .                                 

-v_ OR5fy{s lj|mofkbsf] k|of]u u/L rf/ jfSodf cfˆgf] ;fyLsf] sfo{ ;kmntfsf] j0f{g ug'{xf];\ .        

(= s'g} Ps k|Zgsf] pQ/ lbg'xf];\  M -$_ 

-s_ tnsf rf/cf]6f hl6n jfSonfO{ cf7cf]6f ;/n jfSodf ljZn]if0f ug'{xf];\ M 

o'jf sfdsf] vf]hdf ljb]z uP t/ pgLx¿n] ;f]r] h:tf] sfd kfPgg\ . hLjg ;'wf/sf nflu w]/} k|of; u/] 

tfklg ;d:of lhpFsf ltpF g} /x\of] . ha /fi6«n] Tof] ;d:of yfxf kfof] ta o'jfnfO{ ljb]zaf6 lemsfO{ 

:j/f]huf/L agfof] . ljb]z hfg]sf] ;ª\Vofdf pNn]Vo sdL cfof] clg ljb]z hfg]sf] cfsif{0f 36\of] .    

-v_ tnsf jfSonfO{ ck|ToIf sygdf kl/jt{g ug'{xf];\ M 

 5f]/fn] eGof], æcfdf, alxgL slt jif{sL eO{ <Æ 

cfdf, ætLg jif{sL eO{ .Æ  

5f]/f, æca p;nfO{ slxn] ljBfno k7fpg] <Æ  

cfdf, æltdLn] j]n}df ;Demfof}, o;} jif{b]lv k7fpg] .Æ   

!)= lbOPsf] cg'R5]b k9L cGTodf ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\  M  -% â !Ö%_ 

;+;f/sf] ;[li6 slxn] eof] < s;/L eof] < s]af6 eof] < ;[li6 x'g'eGbf cl3 s] lyof] < cflb k|Zg k|foM ;a} 

JolStsf nflu lh1f;fsf ljifo x'g\ . o;}n] ;[li6;DaGwL ljleGg b[li6sf]0f k|:t't x'g' :jfefljs} xf] . 

;[li6;DaGwL k|:t't ePsf ljleGg b[li6sf]0fdWo] k"jL{o jfª\dosf j}lbs u|Gy / cfw'lgs ef}lts zf:qLsf] 
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;[li6;DaGwL b[li6sf]0f lgs} ldNbf]h'Nbf] b]lvG5 . cfw'lgs ef}lts zf:qLn] a|x\df08sf] pTklQ ;jf{lws 3gTjsf] 

cj:yfdf /x]sf] s'g} laGb'af6 ePsf] / To;sf] cGTo klg To:t} laGb'df x'g] atfPsf 5g\ . pgLx¿n] ;jf{lws 

3gTjdf /x]sf] To; laGb'nfO{ ANofsxf]n eg]sf 5g\ . ef}lts zf:qL cfOG:6fOgn] ANofsxf]nsf] clwstd u'?Tj 

zlStsf sf/0f To;leq l5/]sf] k|sfz;d]t aflx/ glg:sg] / To;n] ;a} lrh cfkm"df ;dflxt ug]{ ePsfn] 

To;sf] ef/ a9\5 eGg] wf/0ff /fv]sf lyP . kl5 xlsªn] clws u'?Tj zlStn] ubf{ ANofsxf]nleq x/]s lrh 

v'lDrP/ vfFlbP/ /x]sf x'g] / cem v'DrFb} hfFbf To;af6 ljls/0f pT;h{g x'g] / la:tf/} ANofs xf]n gi6 x'g] 

atfP . /]l8o;g pT;h{g gubf{ rflxF dxflj:kmf]6g eP/ To;af6 gofF a|x\df08sf] ;[li6 klg x'g ;Sg] ljrf/ 

JoSt u/] . ef}lts zf:qLsf] of] dfGotf …CUj]bÚ sf] ;[li6;DaGwL b[li6;Fu ldNbf]h'Nbf] b]lvG5 . …CUj]bÚ df 

…;[li6k"j{ cGwsf/af6 9flsPsf] ;3g cGwsf/ lyof] . To;leq cfˆgf] zlStk'~haf6 lgld{t Ps cToGt 

pmhf{zLn tŒj lyof] . oxL tŒjaf6 rf/}lt/ km}lnPsf] ls/0f g} kbfy{df kl/0ft eO{ ;+;f/sf] ;[li6 eof]Ú 

elgPsf] 5 . …CUj]bÚ df elgPsf] cGwsf/af6 9flsPsf] pmhf{zLn tŒj ef}lts zf:qLn] eg]sf] ;jf{lws 

3gTjsf] cj:yfdf /x]sf] laGb';Fu ldNb5 . …CUj]bÚ df pNn]v ul/Psf] oxL ultzLn / phf{zLn tŒjnfO{ 

j]bfGt bz{gn] lgu'{0f, lg/fsf/ a|x\d eg]sf] 5 . j]bfGt bz{gdf dfs'/fn] cfˆgf] ;fgf] z/L/af6 7'nf] hfnf] a'g]/ 

k'gM cfkm"df ljnLg ug{ ;s] em}F lgu'{0f, lg/fsf/ / pmhf{k'~hsf ¿kdf /x]sf] a|x\d g} rf/}lt/ km}lnPsf] ls/0fsf 

dfWodaf6 hLjghut\¿kdf kl/0ft x'G5 . k|nosfndf a|x\dn] g} ;ª\s'rgsf dfWodaf6 ;Dk"0f{ hLjg 

hut\nfO{ k'gM cfkm"d} ;dflxt u5{ elgPsf] 5 . o;}n] j]bfGt bz{gdf ;[li6, l:ylt / k|nosf] sf/ssf ¿kdf 

a|x\dnfO{ lnOPsf] 5 . ef}lts zf:qLn] klg ANofsxf]ndf /x]sf phf{zLn SjfG6d k'~hsf] lj:kmf]6g x'Fbf 

a|x\df08 aGg] / ;ª\s'rg ePkl5 k'gM SjfG6d k'~hdf kl/0ft x'g] atfPsfn] ef}ltsjfbLn] dfg]sf] SjfG6d 

k'~h / j]bfGt bz{gn] l:jsf/]sf] a|x\dlar lgs} ;dfgtf /x]sf] b]lvG5 . j]bfGt bz{gdf hLjghut\sf] ;[li6, 

l:ylt / k|nosf] PsLs[t JofVof ug]{ …a|x\d;"qÚ /x] h:t} ef}lts zf:qL xlsª klg a|x\df08sf] pTklQ, ;+/rgf 

/ k|nosf] PsLs[t JofVof ug]{ l;4fGt agfpg] k|oTgdf lyP . pgL o;df ;kmn x'g ;s]gg\ . pgn] pQ/jtL{ 

cg';Gwftfsf nflu dfu{lrq eg] sf]l/lbPsf 5g\ .  

k|Zgx¿  

-s_ cfw'lgs ef}lts zf:qLn] a|x\df08sf] ;[li6 s;/L ePsf] atfPsf 5g\ <  

-v_ s]nfO{ j]bdf ;[li6sf] sf/s dflgPsf] 5 <  

-u_ a|x\d / SjfG6d k'~hsf lar s:tf] ;dfgtf /x]sf] 5 <  

-3_ j]bfGt bz{gdf ;[li6, l:ylt / k|nosf] PsLs[t JofVof s'g u|Gyn] u/]sf] 5 < 

-ª_ cfOG:6fOgn] ANsxf]n;DaGwL s:tf wf/0ff cufl8 ;f/]sf 5g\ < 

!!= lbOPsf] cg'R5]b k9L d'Vo d'Vo rf/cf]6f a'Fbf l6kf]6 u/L ;f/f+z n]Vg'xf];\  M   -@±#Ö%_  

;xsf/Lsf] pkfb]otf ;dfhsf x/]s If]qdf plQs} eP klg cfly{s ;d[l4 / ljsf;df o;sf] dxŒj lgs} 

ljlzi6 /x]sf] 5 . ljsf;sf] d'Vo cfwf/ cfly{s ;d[l4 xf] . ljsf;sf nflu cfjZos cfly{s ;d[l4df 

;xsf/Lsf] e"ldsf ckl/xfo{ 7fg]/ g} ;+;f/sf cljsl;t, ljsf;f]Gd'v / ljsl;t ;a} b]zn] ;xsf/Lsf] :yfkgf 

/ ;~rfng ul//]xsf 5g\ . w]/} b]zn] ;xsf/Lsf dfWodaf6 cfly{s ;d[l4 xfl;n ul/;s]sf 5g\ . ;+o'St /fi6« 

;ª\3n] klg ;xsf/LnfO{ cfly{s, ;fdflhs / ;f+:s[lts ljsf;sf] cfwf/:tDe :jLsf/ ub{} ;a} b]znfO{ o;sf 

dfWodaf6 cfˆgf] b]zsf] ljsf; ug{ ;lsg] ePsfn] o;sf] cg';/0f ug{ ;'emfj lbPsf] 5 . 

!@= s'g} Ps k|Zgsf] pQ/ n]Vg'xf];\  M      -$_                  

-s_ :yfgLo :jf:Yo s]Gb|n] ;j{;fwf/0f hgtfnfO{ sf]/f]gf efO/; lj?4sf] vf]k nufpg hf/L ug]{ 

;fj{hlgs  ;"rgfsf] gd'gf tof/ kfg'{xf];\ .   
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-v_ …r08L PG8 ;G; 6«fG;kf]6{ sDkgLÚ n] sf7df8f}F l:yt …gjLg j:q e08f/Ú nfO{ ;fdfg a'emfO{ ?= 

 %),)))÷– e'StfgL lnP jfkt ul/lbPsf] e/kfO{sf] gd'gf tof/ kfg'{xf];\ .   

!#=  s'g} Ps k|Zgsf] pQ/ n]Vg'xf];\  M      -%_                  

-s_ g]kfnsf s'g} Ps sljsf] :d[ltdf cfof]lht slj uf]i7Lsf] ljj/0f ;d]6]/ !%) zAb;Ddsf] k|ltj]bg  

 tof/ kfg'{xf];\ . 

    -v_ …g]kfnsf] s[lif k|0ffnLdf ;'wf/sf] cfjZostfÚ  zLif{sdf !%) zAb;Ddsf] l6Kk0fL n]Vg'xf];\   . 

!$= s'g} Pssf] JofVof ug'{xf];\ M      -$_ 

-s_ xf], Tof] cfpF5 

Tof] laxfgsf] ;"o{ em}F pHofnf] 5b{} cfpF5 . 

-v_ gf/L k|]d / ;ª\3if{sf k|ltd"lt{ x'g\ . 

!%= s'g} b'O{ k|Zgsf] pQ/ n]Vg'xf];\  M      -$_ 

-s_ tnsf] sljtf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ M 

dg}{k5{ eg] klg k/ k'uL d/f}F   

ge'mSg] of] lxdfndf lsg em'sL d/f}F  

hlt r9\of] plt afFsL lxdr'nL lzv/  

gb]v]sf] s'/f x]g]{ xfdLnfO{ /x/ .  

k|Zgx¿   

-c_ dflysf] sljtf+zdf g]kfnLsf] s:tf] dfgl;stfsf] lrq0f ul/Psf] 5 .  

-cf_ g]kfnLn] lxdr'nLaf6 s:tf] k|]/0ff k|fKt u/]sf 5g\, dflysf] sljtf+zsf cfwf/df JofVof ug'{xf];\ . 

-v_ tnsf] lgaGwf+z k9L ;f]lwPsf k|Zgsf] pQ/ lbg'xf];\ . 

cfhsf] o'u k|lt:kwf{sf] o'u xf], Psflwsf/sf] xf]Og . xfdLn] /fd|f / pkof]uL j:t'sf] pTkfbg ug{ ;Sof}F eg] 

ahf/sf] ;d:of x'Fb}g . ljZjJofkLs/0fsf] cfhsf] o'udf g]kfnL ;+;f/e/ 5l/P/ /x]sf 5g\ . ljZjsf] h'g;'s} 

s'gfdf k'u] klg g]kfnLn] cfˆgf] df}lnstf / klxrfgnfO{ e'n]sf 5}gg\ . pgLx¿ pknAw eP;Dd cfˆgf df}lns 

j:t'sf] pkef]u ug{ ?rfpF5g\ . cfh ljZje/ s[lqd / ljiffbLo'St vfgkfgsf sf/0f cg]s /f]u lglDtPsf 5g\ 

. g]kfn h:tf] k|s[ltsf] ;'Gb/ b]zdf xfdLn] cuf{lgs tyf k|fs[lts j:t'sf] pTkfbg ug{ ;Sof}F eg] xfd|f 

pTkfbg ;+;f/e/ laSg] 5g\ . To;}n] k|lt:kwL{ ylkFb}df cflQg' kb}{g . ahf/sf] lj:tf/;Fu} s'g} Pp6f pBf]usf 

pTkfbgn] dfq ;a}sf] dfu / cfjZostf k"/f ub}{g . s'g} Ps If]qdf :yflkt pBf]un] ;a}sf] rfxgf / 

cfjZostfsf] kl/k"lt{ ;Dej 5}g . 

k|Zgx¿  

-c_ ljZjJofkLs/0fsf kmfObf / a]kmfObf n]Vg'xf];\ .  

-cf_ lsg k|lt:kwL{ ylkFb}df cflQg' kb}{g elgPsf] xf] < 

!^= s'g} Ps k|Zgsf] pQ/ lbg'xf];\ M   

-s_ ef}uf]lns cj:yf / ;fdflhs kl/j]zsf b[li6n] …3g3:ofsf] psfnf] sf6\bfÚ lgofqf tkfO{FnfO{ s:tf] nfUof],  

 k|ltlj|mof lbg'xf];\ .   
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-v_ …dft[TjÚ syfsL kfq ddtfn] ;'af]wnfO{ 5f]8]/ afFsL hLjg ;Gtfg;Fu latfpg u/]sf] lg0f{o tkfO{FnfO{ 

s:tf] nfUof], cfˆgf] ljrf/ k|:t't ug'{xf];\ .   -$_ 

!&= s'g} Ps k|Zgsf] ;dLIffTds pQ/ lbg'xf];\ M  -*_  

-s_ …Ps lrxfgÚ pkGof;df ;dfhsf] s:tf] cj:yfsf] lrq0f ul/Psf] 5, j0f{g ug'{xf];\ . 

-v_ l:6kmg ljlnod xlsªn] dfgjLo r]tgfnfO{ gofF prfOdf k'¥ofpg u/]sf] of]ubfgsf] ;dLIff ug'{xf];\ .  

!*= s'g} Ps zLif{sdf sDtLdf @%) zAb;Ddsf] lgaGw n]Vg'xf];\  M    -*_  

-s_ xfd|f kfx'gf ko{6s  

-Vf_ j}1flgs rdTsf/  

-u_ zflGt, ;d[l4 / ljsf;  

–)– 
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3. Compulsory English 

Eng. 003 (Grade XI), Eng. 004 (Grade XII)  

Test Specification Chart for External Evaluation 

Reading (35 marks) 
1. Reading Comprehension Test (15 marks) 
  One unseen prose text of about 500 words like; book/film reviews, news reports and articles, 
stories, reports, letters or emails, essays, biographies/auto-biographies, product guides, blogs, 
brochures, travelogues/memoire etc. followed by comprehension questions targeting the testing of 
the following skills involved in reading, will be given together with the comprehension questions: 
 understanding general content of paragraphs or sections 
 identifying and understanding specific information in the passage 
 scanning and understanding information 
 understanding the opinions of the writer 
 understanding words in context 
 identifying aims of a passage 
 understanding details and order of information 
a. Number of test items: 15 
b. Types of test items: any three of; Multiple Choice, True/False/Not Given, Sentence 

Completion, Matching, Ordering, Summary Completion, and Short Answer Questions. One 
type of question should test the vocabulary in context. 

c. The questions should have the mixture of different types of comprehension: literal 
comprehension, reorganization, inference and evaluation. 

2. Text Based Questions (20 marks) 
This section contains seven text based questions from literature section. This follows the following 
chart: 

Genres Types of questions 
Genres Short answer questions Long answer questions 
Short stories  

 
5 

 
 
2 

Poems 
Essays 
One act plays 
Total Short Answer Questions = 5x2 = 10 

Long Answer Questions = 2x5 = 10 
Short and long answer questions should cover the following skills: 

a. comprehending   
b. narrating  
c. summarizing 
d. writing character sketch 
e. paraphrasing 
f. writing theme/central idea of the text   
g. comparing and contrasting  
h. making judgment (e.g. title justification)  
i. arguing  
j. analysing and interpreting   
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k. explaining with reference to context 
l. literary interpretation 
m. critical appreciation 

 
Writing (25 marks) 
Three writing tasks will be given:  
1. Task 1 (1X7=7) 

Any one of: paragraph writing, summary writing, interpreting graphic text, news story writing, 
note taking, and skeleton stories. 
Word limit: 150 words. 

2. Task 2 (1X8=8) 
Any one of: personal letter, job application letter, letter to the editor, business letter, emails, 
writing a CV. 
Word limit: 180 words. 

3. Task 3 (1X10=10) 
Any one of: essay, travelogue/memoir, book/film review, biography, diary entry, communique 
and press release. 
Word limit: 300 words. 

Grammar and vocabulary (15 marks)  
1. Grammar (10X1=10 marks) 

The test item on grammar will cover the following contents. 
a. Adjectives and adverbs 
b. Concord/subject verb agreement 
c. Prepositions 
d. Modal auxiliaries 
e. Tense and aspects 
f. Infinitives and gerunds 
g. Conjunctions 
h. Relative clause 
i. Voice 
j. Reported speech 

2. Vocabulary: (5x1= 5 marks) 
This section covers the following contents.  
a. Sound system of English: consonants and vowels 
b. Vocabulary study 
- Stem/root - Suffixes 
- Prefixes - Derivation 
- Inflexion - Synonyms/antonyms 
- Parts of speech - Idioms and phrases 
- Nouns-number - Verb conjugation 
- Spelling - Punctuation 

c. Dictionary use  
d. Idioms and phrasal verbs 
(Note: Sound System of English will be tested in grade 12 only) 
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3. Compulsory English (ENG. 004) 
Compulsory English (ENG. 004) 

Grade XII 
Model Questions 

Full Marks: 75         Time: 3 hours 
1. Read the text and complete the tasks that follow.     15 

How to stay fit, happy and healthy 
If you’ve been listening to the news you already know about our national obesity levels rising 
by the day. It has never been more important to watch what you are eating and to get an 
adequate amount of exercise and sleep to keep yourself fit and healthy. Though it may feel like 
really hard work at first, once you adopt an exercise routine and start to adapt to a new 
situation, you’ll forget you ever did things differently. Here are the top four top adjustments 
you could make make: 

Sleep is huge and almost a third of the US population doesn’t get near enough to help them stay 
physically and mentally healthy. If you are sleep deprived, try changing your habits in order to 
get a full eight hours every night. 

Look at what you’re eating now and make changes where you see fit. If you are susceptible to 
snacking, keep a piece of fruit or a few nuts at hand. The key is to eat small meals throughout 
the day. Reduce portion sizes, remove white bread and replace with whole grains and make sure 
each meal contains at least one portion of fruit and – or vegetables. Healthy food doesn’t have 
to be expensive in the least bit, and you can get an abundance of low priced fruit and veggies, 
like apples, bananas, potatoes and peas. 

Take a look at your current lifestyle and make a small list of everything you do that is not good 
for your health. This could be anything, from eating too much junk food or drinking too much 
caffeine, to smoking or drinking. Start the process of breaking these habits one by one. Some 
will be easy, while others may take months or maybe years to get rid of and eradicate 
completely from your life, but the sooner you start fighting, the better.  

Some addictions (like smoking, drugs or alcohol) are incredibly bad not only to your health, 
but also to your pocketbook. If you smoke and/or drink, start by cutting back on how many 
drinks you have, or cigarettes you smoke, in a day, and if necessary, seek medical advice and 
assistance to make further steps towards stopping completely. 

We all should be doing at least 30 minutes of exercise, 3 to 4 or more times a week, to maintain 
good health and keep fit. This can be pretty much anything that is physical, like walking, 
cycling, running, swimming to weightlifting, etc. This too does not have to be expensive, and 
you can get a great work out without joining any costly gyms. Most of these exercises are 
inexpensive, and just doing a cardiovascular exercise, like walking, jogging, or walking on a 
treadmill a few times a week will do your body (and heart) good. 

A. Look at the highlighted words in the text. Complete these sentences using them. Two 
of them are not necessary.       (5X1=5) 

a. Disadvantaged people are …………… of social justice.  
b. Nepal is a naturally rich country. In fact, it has an …………….. of natural resources. 
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c. Older people with medical complications are …………… to Covid-19. 
d. I have made a few …………… to the design to give the shirt a new look. 
e. It took me seven hours to complete the task. It was …………… difficult. 
B. Choose the appropriate headings for paragraphs 2-6 from the list below and write 

the paragraph numbers next to them.      (5X1=5) 
a. Strive for a better diet ……………. 
b. Exercise, exercise, exercise ……………. 
c. Overcoming addictions ……………. 
d. Get more sleep ……………. 
e. Stop all those bad habits ……………. 

C. Answer the following questions.      (5X1=5) 
a. What percentage of the US population get enough sleep to stay healthy? 
b. Why is healthy food not always expensive? 
c. What is the best way to get rid of bad habits? 
d. Why do you think an addiction like smoking is worse than snacking on junk food? 
e. What type of exercise is good for your heart? 

2. Write short answers to the following questions.    (5X2=10) 
a. Why were the people in the neighbourhood surprised at the role of the young man and 

his wife within their family?  (Neighbours) 
b. How does the author make fun using the words 'America' and 'the USA? (A Devoted 

Son) 
c. Explain the following lines with reference to the context: (The Awakening Age) 

Along the line may our lives rhyme 

To make a loving harvest of space and time. 

d. What is the central idea of the essay Knowledge and Wisdom by Bertrand Russell? 
e. How can you say that history has been a major contested issue in this present world? 

(Humility) 
3. Write long answers to the following questions.    (2X5=10) 

a. Sketch the character of Famous Actress. How is she different from Earnest Young 
Woman? (A Matter of Husbands) 

b. Write a short summary of the poem A Day by Emily Dickinson. 
4. What is the most useful thing that you have ever learnt? Write two or three of 

paragraphs about it.         7 
5. You have received this email from your friend Nitesh.  

From: Nitesh 
Subject: Holiday 
Some school friends of mine are visiting your village soon for a week's touring holiday. 
They would like to travel around about your local area and understand its history. 
Can you tell me about some of the places they could visit please? What's the best way to 
travel around – bus, car, bike or on foot? 
Thanks, 
Nitesh 

Write a reply email to Nitesh.        8 
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6. Many students in Nepal tend to choose to study abroad. To what extent does this trend 
benefit the students and the country? What are the drawbacks? Write an essay to 
explain your thoughts in about 300 words.      10 

7. Do as indicated in the brackets and rewrite the sentences.   (10X1=10) 
a. I’m going to tell you something very important, so please listen …………... . 

(Complete the sentence with an appropriate adverb.) 

b. The old man died …………. a heart attack. (Put the correct preposition in the blank.) 
c. More than one person …………. going to have to find a new job. (Put the correct 

verb in the blank.) 

d. You'll …………. (has to/have to/must/had to) tell the police that your house was 
broken into. (Choose the correct option from the bracket to complete the sentence.)  

e. He only realised he …………. his keys when he reached his front door. (Complete the 

sentence using correct forms of verbs: lose) 
f. A lot of people are worried about …………. (to lose/losing) their jobs. (Choose the 

correct option from the bracket to complete the sentence.) 
g. …………. the AC was on, the room was not cool. (Put a correct conjunction in the 

blank to complete the sentence.) 
h. Between 2000 and 2005 she wrote three novels, …………. (neither of which/none 

which/none of which) were published. (Choose the correct option from the bracket to 

complete the sentence.) 
i. I like people laughing at me. (Change into passive.) 
j. Could you please open the window? (Report this with the reporting clause: She 

requested ………..) 
8. Choose and copy the correct answer.      (5X1=5) 

a. Which of the following words has a different initial sound? 
i. check     ii. chess     
iii. chemical    iv. chairman 

b. The last sound in the word 'push' is transcribed as 
i. /ʃ/    ii. /z/ 
iii. /s/     iv. /tʃ/ 

c. I can't ……….. the pain. 
i. bare    ii. bear 
iii. beer    iv. bore 

d. Which word would you find in a dictionary that comes between the guide words: kiwi … 
knit? 
i. king    ii. kitty 
iii. knob    iv. knife 

e. The babysitter ……….. the girl while her parents were not at home. 
i. looked after    ii. looked at 
iii. looked over   iv. looked up 

 

–)– 
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$= ;fdflhs cWoog tyf hLjgf]kof]uL lzIff Sol. 005 
;fdflhs cWoog tyf hLjgf]kof]uL lzIff Sol. 005 

sIffM !@ 

k"0ff{ª\sM &%            ;doM # 306f  

k|Zg of]hgf tyf cª\sef/ ljt/0f 

PsfO 

 

If]q÷OsfO 
 

Kff7\o  

ef/ 

1fg  @) k|ltzt Aff]w @& k|ltzt k|of]u tyf l;k 

@* k|ltzt 

pRr bIftf @% 

k|ltzt 

 hDdf k|Zg;ª\Vof hDdf cª\sef/ 

clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] clt 

5f]6f] 

5f]6f] nfdf] 

! ;fdflhs tyf hLjgf]kof]uL 

lzIffsf] cjwf/0ff 

#  @ 

 

  !   ! !    ! $ 

 

! 

 

! 

 

 

 

  $ 

   

 % 

 

* 

 

@ l8lh6n l;k tyf ;fdfGo 

cg';Gwfg l;k  

!# 

# hLjgf]kof]uL l;k !! 

$ ;dfhsf] ljsf; / bz{g !) ! 

 

! 

 

  ! 

 

! ! !   !   @ 

 

$ 

 

! 

  

  @ 

   

 @) * 

 
% e"uf]n / ;fdflhs hLjg !$ 

^ g]kfnsf] Oltxf; !@ 

& ;fdflhs klxrfg / ljljwtf !@ 

* ;+ljwfg / gful/s ;r]tgf !) @ 

 

!  ! !  !  ! ! !   % # 

 

!   % 

   

 !% 

 

 * 

( ;x/Ls/0f / a;fO;/fO  !# 

!) cy{tGq / ljsf;  !# 

!! lzIff / ;fdflhs ljsf; ( 

 hDdf !@) % @  ! @ ! $ @ ! ! @ ! !! * #  !!  $)  @$ 
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k|Zgsf k|sf/x¿

k|Zgsf k|sf/x¿ ;f]lwg] ;ª\Vof ;do ljefhg -

ldg]6_

k"0ff{ª\s

clt 5f]6f k|Zg !! @) !!×! = !!

5f]6f k|Zg * ($ *×% = $)

Nffdf k|Zg # ^^ #×* = @$

hDdf @@ # 3G6f &%

b|i6Jo M 

 ;a} k|Zg clgjfo{ x'g] 5g\ . 

 clt 5f]6f k|Zg !! cf]6f ;f]lwg] 5 . k|To]s k|Zgsf] cª\sef/ ! x'g] 5 . 

 5f]6f k|Zg * cf]6f x'g] 5g\ / k|To]ssf] cª\sef/ % x'g] 5 . 

 nfdf k|Zgx¿ # cf]6f x'g] 5g\ / k|To]ssf] cª\sef/ * x'g] 5 . 

 k|Zgx¿ dfly plNnlvt 1fg, af]w, k|of]u tyf l;k / pRr bIftfsf] lgwf{l/t k|ltzt ef/ ldNg] u/L 

lgdf{0f ug'{kg]{ 5 . Pp6} PsfOaf6 dfq w]/} k|Zg gkg]{ u/L ;Gt'ng ldnfpg' kg]{ 5 . 

 !@, !( / @! gDa/sf k|Zgx¿df Ps cltl/St k|Zg ;f]lwg] 5 . 

 Pp6f Sn:6/af6 ;f]lwg] k|Zgx¿df 1fg, af]w, k|of]u / pRr bIftfsf k|Zg h'g;'s} PsfOaf6 klg ;f]Wg 

;lsg] 5 . t/ k|Zg ;ª\Vof / k|Zgsf] k|s[lt tf]lsPadf]lhd g} x'g'kg]{ 5 . PsfO Psaf6 nfdf] k|Zg 

;f]lwg] 5}g\ . t];|f] Sn:6/df 5f]6f] cltl/St k|Zg ;f]Wbf k|Zg ;f]lwPsf PsfOaf6 gbf]xf]l/g] u/L ;f]Wg'kg]{ 

5 

 pRr bIftfcGtu{t, ljZn]if0f, d"Nofª\sg, l;h{gfTds / d"No;DaGwL k|Zg ;dfj]z ug'{kg]{ 5 . 
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gd'gf k|Zgkq 

;fdflhs cWoog tyf hLjgf]kof]uL lzIff Sol. 005

sIffM !@ 

k"0ff{ª\s M &% ;doM # 306f 

;a} k|Zgx?sf] pQ/ lbg'xf];\ . 

;d"x s 

tnsf k|Zgsf] w]/} 5f]6f] pQ/ lbg'xf];\ M !! X ! Ö !! 

!= hLjg pkof]uL l;k eg]sf] s] xf] < 

@= s:tf] hLjgz}nLnfO{ :j:y hLjgz}nL elgG5 < 

#= ;"rgf ;ª\sngsf nflu u'un ;e]{ kmd{sf] k|of]u s;/L ug{ ;lsG5 < s'g} Ps tl/sf pNn]v ug'{xf];\ . 

$= ;dfg'e"lt L;kn]] ;DAGw k|uf9 agfpg s;/L dbt u5{ . s'g} Ps pbfx/0f lbg'xf];\ . 

%= g]kfnsf] Oltxf;df c+z'jdf{n] u/]sf  b'O{ ;'wf/ sfo{x¿ s] s] lyP < 

^= tkfO{Fsf] sIffdf !% hgf 5fqf / !@ hgf 5fq 5g\ . rj|m lrqdf k|:t't ug{sf nflu of] tYofª\snfO{ 

l8u|Ldf kl/jt{g ug'{xf];\ . 

&= gful/sn] kfngf ug'{kg]{ s'g} b'O{ st{Jo n]Vg'xf];\ . 

*= Jofkf/ 3f6f eg]sf] s] xf] < Ps jfSodf n]Vg'xf];\ . 

(= lzIffn] tkfO{Fsf] ;d'bfosf] /f]huf/Ldf kfg]{ s'g} Ps k|efj pNn]v ug'{xf]; .

!)= s'g} klg ;x/n] ;x/Ls/0fsf] dfkb08 nfu' gugf{n] x'g] s'g} c;/ ;DaGwdf ;f] gu/kflnsfsf k|d'vnfO{ 

tkfO{F s] ;'emfj lbg'x'G5 . s'g} Ps ;'emfj n]Vg'xf];\ . 

!!= a;fFO;/fO cj;/ xf] ls r'gf}tL < ts{;lxt cfˆgf] wf/0ff n]Vg'xf];\ . 

;d"x v 

tnsf k|Zgsf] 5f]6f] pQ/ lbg'xf];\ M * X % Ö $) 

!@= hLjgf]kof]uL l;knfO{ k"jL{o jf kfZrfTo lrGtg k/Dk/fcg';f/ cfkm\gf] hLjgdf s;/L nfu' ug'{ePsf] 5 < 

pbfx/0f k|:t't ug'{xf];\ . 

cyjf 

n]vg sfo{df ;+nUg /xg] cfkm\gf gft]bf/nfO{ c¿sf n]v /rgf k|of]u ubf{ s'g s'g g}lts kIfx¿df Wofg

lbg ;Nnfx lbg'x'G5 < s'g} kfFrcf]6f Wofg lbg'kg]{ kIfx¿ pNn]v ug'{xf];\ . 
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!#= jt{dfg ljZj ljljwtfo'St 5 eGg] cfwf/x¿ a'Fbfut ¿kdf n]Vg'xf];\ . 

!$=cGt/k|fb]lzs ;DaGwsf] ;fdflhs tyf ;f+:s[lts cfofdsf] JofVof ug'{xf];\ 

!% k~rfotsfnLg sfnv08df /fhgLlts bnsf sfo{stf{x¿ dfly ePsf dfgj clwsf/ xgg;Fu ;DalGwt 

ljifo ;d]6\g] u/L ;d'bfosf /fhgLlt1nfO{ ;f]Wg] s'g} kfFrcf]6f k|Zg tof/ kfg'{xf];\ . 

!^= ;dtfd"ns ;dfh lgdf{0fdf d'Vo r'gf}tL / ltgsf] ;dfwfgsf] pkfosf] rrf{ ug'{xf];\ . 

!&= ;"rgfsf] xs eg]sf] s] xf] < nf]stflGqs k|0ffnLdf o;sf] dxŒj pNn]v ug'{xf];\ .

!*= g]kfnsf] lzIff If]qdf ;dfj]zLs/0fsf ;Gbe{df b]lvPsf r'gf}tLx¿ pNn]v ug'{xf];\ . 

!(= g]kfn ef/tlarsf] cfly{s ;xof]u / ;DaGwsf] ;dLIff ug'{xf];\ . 

cyjf 

“cJojl:yt ;x/Ls/0f ljsf;sf] r'gf}tL xf] .”  o; egfOnfO{ k'li6 ug'{xf];\ .

;d"x u 

tnsf k|Zgsf] nfdf] pQ/ lbg'xf];\ M  # X * Ö @$

@)= cfTdcfnf]rgf / :j?kfGt/n] JolStsf] hLjgdf ;sf/fTds kl/jt{g Nofpg ;xof]u u5{ . o; egfOnfO{ 

pbfx/0f;lxt k'li6 ug'{xf]; .  

@!= g]kfnsf ;ftcf]6} k|b]zdf ljsf;sf nflu s:tf ef}uf]lns cj;/x¿ 5g\ < ltgsf] pkof]u s;/L ug{ 

;lsG5 < cfkm\gf] ljrf/ k|:t't ug'{xf];\ . 

 cyjf 

 lj=;+= @))& ;fnsf] j|mflGt / To;kl5 b]zdf pTkGg cj:yfsf sf/0f s] s] lyP < To:tf] cj:yf cfpg 

glbg s] s] ug{ ;lsGYof] < cfkm\gf] ljrf/ k|:t't ug'{xf];\ . 

@@= g]kfnsf lxdfnL lhNnf / u|fdL0f a:tLaf6 a;fO{F;/fO u/]/ ;x/tkm{ hfg] dflg;sf] ;ª\Vof k|ltjif{ 

al9/x]sf] 5 . dfgf}F tkfOF{ tLj| a;fOF;/fO x'g] s'g}  Ps ufpFkflnsfsf] cWoIf x'g'ePsf] eP cfˆgf] 

ufpFkflnsfaf6 a;fO{F ;/]/ aflxl/g] j|md /f]Sgsf nflu s] s:tf /0fgLlt cjnDag ug'{x'GYof], pNn]v 

ug'{xf];\ .  

–)–
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1 Algebra 44

2 2 2 10 5 5 1 5 1 8 2 2 4 20 1 8 2 2 1 5 1 8 

20 
MCQ: 2 
SAQ: 2 
LAQ: 1

2 Trigonometry 12 6 MCQ: 3 
SAQ: 2 
LAQ: 1

3 Analytic Geometry 20 9 

4 Vector 12 6 

5 Statistics & Probability 12
6 MCQ: 1 

SAQ: 1 

6 Calculus 48
22 MCQ: 4 

SAQ: 2 
LAQ: 1

7
Computational methods 
or Mechanics 12

6 MCQ: 1 
SAQ: 1 

Total 160 12 18 30 15 75 
MCQ: 11 
SAQ: 8 
LAQ: 3 
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Question format plan 

S.N. Types of Questions 
Marks per 
question 

Number of questions 

Knowledge Understanding Application Higher Ability Total number of 
questions 

Total 
Marks 

1. Multiple Choice Question 1 2 5 2 2 11 11 

2. Short Answer Question 5 2 1 4 1 8 40 

3. Long Answer Question 8 0 1 1 1 3 24 

Grand Total 4 7 7 4 22 75 

Note: 

§ Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure-based questions should be prepared
for blind students.

§ Questions should be prepared by giving the context and one question may have more than one sub-questions.

§ Application and higher ability questions can be made by relating the other content areas.

§ Questions should be made by addressing all the sub-areas of content.

§ At least one multiple choice question should be asked from each area (Trigonometry, Analytic geometry and Vector).
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Secondary Education Examination 

Model question-2080 

Subject: Mathematics (Mat.008) Grade: XII 

Full Marks: 75 Time: 3 Hrs. 

Attempt all the questions. 

          Group A: Multiple Choice Questions (1 × 11 = 11) 

Rewrite the correct option in your answer sheet. 

1.What is the number of permutations of n different things, taken r at a time while each thing
may be repeated any number of times in any permutation?           [K] 

a. 𝑛! b.𝑛!   c.(𝑛 − 1)! d.	 "!
("%!)!

2. What is the sum of first 5 odd natural number? [U] 

a. 15 b. 25 c. 42 d. 255

3. In a triangle ABC,  ÐC = 30', b = √3  and a =1. What type of triangle is ABC? [HA] 

a. Right angled  b Isosceles 

c. Isosceles right-angled  d . Scalene  

4.What is the value of k so that the length of the tangent from (5,4) to the circle 𝑥( + 𝑦( +
2𝑘𝑦 = 0 is 1.  [U] 

a. -5 b. -4 c. 4 d. 5

5. Given 𝑎⃗. 𝑏6⃗ = 48 , |𝑎⃗| = 15	𝑎𝑛𝑑	<𝑏6⃗ < = 4, what is the value of <𝑎⃗ 	× 𝑏6⃗ <  ? [U] 

a. 12 b. 36 c. 48 d. 60

6. What is the probability of getting 53 Friday or Saturday in a leap year? [A] 

a.  )
*
                             b. (

*
                             c. +

*
                         d. (

,+

7.What is the derivation of 𝑡𝑎𝑛ℎ%)𝑥	? [K] 

a. )
)%-!

 , |x| < 1 b. (
)%-!

 ,   |x| > 1

c. (
-!%)

 ,  |x| < 1            d. )
√-!	%	)

  |x| > 1
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8. Which one of the following is equal to lim
-→1

+-%23"-
(-

 ? [U]

a. 3 b. 3

c. 1.5 d. 1

9. Which one of the following represents the equation of tangent to the curve 𝑦( = 4𝑥 at the
point (1, 2)? [A]

a.𝑥 + 𝑦 + 1 = 0 b.	𝑥 − 𝑦 + 1 = 0
c.	𝑥 + 𝑦 − 1 = 0 d.	𝑥 − 𝑦 − 1 = 0

10. The volume of a sphere is increasing at the rate of 25 cm3/sec. At what rate the radius is
increasing at the instant when the total surface area of a sphere is 10𝜋 cm2? [HA] 

a. 
!
"
  cm/sec   b. 

"
!
  cm/sec   c. 

#
$!
	cm/sec d. 100𝜋 cm/sec

11.The system of equation 2𝑥 + 3𝑦 = 5 and 𝑥 − 𝑦 = 0 has ... [U]

a. no solution b. infinitely many solution
c. one solution d. finitely many solution

OR 

A car moving with a velocity of 	15𝑚/𝑠 has a uniform acceleration of 	2𝑚/𝑠(. If it moves for 
2.5sec, find it's final velocity.                                                                                [U] 

a.10	𝑚/𝑠 b.	15𝑚/𝑠 c.	20𝑚/𝑠 d.	24𝑚/𝑠
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   Group "B"  (5 × 8 = 40) 

12. In the expansion of (𝑥 + 𝑎)", n is a positive integer.

a. Write the general term of the expansion. [1K} 

b. If a is replaced by (-a), what is the general term of the expansion? [1K] 

c. How many terms are there in the expansion of (𝑥 + 𝑎)"? [1K] 

d. Write the expansion of 𝑒-. [1K] 

e. State the relation between C(n, r), C(n, r-1) and C (n+1, r) for r ≤ n [1K] 

13.a. Use De-moivre's theorem to solve 𝑥+ = −1.    [2A] 

b. Solve the following system of equations by using row equivalent method: [3A] 

2𝑥 − 𝑦 + 𝑧 = −1,			𝑥 − 2𝑦 + 3𝑧 = 4		𝑎𝑛𝑑	4𝑥 + 𝑦 + 2𝑧 = 4

14.a. In any triangle ABC, prove that: 𝑏𝑐	𝑐𝑜𝑠( 4
(
+ 𝑐𝑎	𝑐𝑜𝑠( 5

(
+ 𝑎𝑏	𝑐𝑜𝑠( 6

(
= 𝑠( where s is semi-

perimeter of the triangle.  [2U] 

b. The foci of the hyperbola coincide with the foci of the ellipse 
!!

"#
+ 
$!

%
 = 1, find the equation 

of the hyperbola if its eccentricity is 2.  [3U] 

15. a. A man running a race course notes that the sum of his distance from the two flag posts is 
always 10 m and the distance between the flag posts is 8m. Illustrate and interpret the 
situation with diagram. [3HA] 

b) If A,B,C & D are any four points, show that:

           𝐴𝐵66666⃗ . 𝐶𝐷66666⃗ + 𝐵𝐶66666⃗ . 𝐴𝐷66666⃗ + 𝐶𝐴66666⃗ . 𝐵𝐷666666⃗ = 0 [2HA] 

16. The following table shows hours of time spent by five students of grade 12:

Hours spending on study book (X) 5 7 9 10 11 
Hours spending on playing game (Y) 5 4 3 2 1 

a. Estimate the hours spending on playing game who spend 6 hours in study books.          [3A] 

b. Find the coefficient of correlation between X and Y.  [2A] 

 17. a. f '(x) and g'(x) are derivatives of the functions f(x) and g(x). Write the relation between 

lim
𝑥→𝑎

&(!)
)(!)

 and  lim
𝑥→𝑎

&*(!)
)*(!)

 when both expressions give  1
1
 form. [1K] 

b. Write the derivative of sinh 𝑥 with respect to	𝑥. [1K] 

c. What is the expression equal to ∫ +
!!	-	.!

 dx?         [1K] 
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d. Write a differential equation of first order and first degree. [1K] 

e. Write a difference between derivative and antiderivative? [1K] 

18.a) Evaluate: ∫ 9-
(:;<2-

[3A] 

b) Solve: 𝑠𝑒𝑐(𝑥 + 𝑡𝑎𝑛𝑦𝑑𝑥 + 𝑠𝑒𝑐(𝑦	𝑡𝑎𝑛𝑥𝑑𝑦 = 0 [2A] 

19.a. Solve the following system of equations by Gauss seidel method: [2A] 

           3𝑥) + 𝑥( = 5 

            𝑥) − 3𝑥( = 5 

b. Using simplex method to maximize z = 5x-3y

subject to the constraints 

           3𝑥 + 2𝑦 ≤ 6 [3A] 

           𝑥 − 3𝑦 ≤ 4 

            𝑥	 ≥ 0, 𝑦	 ≥ 0 

OR 

a. A bullet of mass 25gm moving 250m/s penetrates into a tree trunk & is then brought to rest
in 0.02 seconds. Find the distance of penetration of the tree-trunk.                            [3A]

b. Find two like parallel forces acting at a distance of 2.5m apart, which are equivalent to a
given force of 30N. The lines of action of one being at a distance of 50cm from the given
force. [2A] 

Group "C" 

20.a) In how many ways can the letters of the word 'I N T E R V A L' be arranged so that: [3U] 

i. all vowels are always together?

ii. the relative positions of the vowels and constants are not changed?

iii. the vowels may occupy only the odd positions?

b. Show that log= 2 = 1 − )
(
+ )

+
− )

>
+ )

,
− )

?
+⋯𝑡𝑜	∞  [2U] 

c. Prove by the method of induction that 1.3+2.4+3.5+…	𝑛(𝑛 + 2) = "(":))((":*)
?

	[3U]     
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 21.a. In the figure alongside triangle ABC is inscribed in a parabola 𝑦( = 	4𝑎𝑥.	

i. Express all the coordinates of triangle ABC in
terms of x coordinates. [1A] 

ii. Prove that the area of triangle ABC is
)
@A
|(𝑦) − 𝑦()(𝑦( − 𝑦+)(𝑦+ − 𝑦))| [2A] 

b. In any triangle ABC, 𝑎(𝑏	 cos𝐶 −
𝑐 cos𝐵) = 𝑏( − 𝑐(  [2A] 

c. Prove that the unit vector perpendicular to each
of the vectors 2𝚤666⃗ − 𝚥 + 𝑘6⃗  & 3𝚤666⃗ + 4𝚥666⃗ − 𝑘6⃗  is
%+BCCCCCCC⃗ :,ECCCC⃗ :))FCCCCCCCC⃗

√),,
 and the sine of an angle between 

them is X),,
),?

                  [3A]

22.a. Illustrate derivative as a rate measure with suitable example. [2HA] 

b. Prove that ∫ 9-
A:G;<2-

	= 	 tan−1[
> tan("!)%+

√*
] +	constant, where a and b are positive constants. 

[3HA] 

c. Does 𝑥 9H
9-
	= 	[𝑥( + 𝑦( 	+ 	𝑦 represent a homogeneous differential equation? give reason. 

Also show the equation.  [3HA] 

-The End- 
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